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MATO090 - Practice Exam 2 — F11 - vl

a. Parenthesis — Distributive Property
b. Fractions — Multiply by the LCD
c. Like Terms — Same side of the = sign
d. Addition Property — Add the opposite to both sides
e. Multiplication Property — Multiply by the reciproca
f.  The step that is different for inequalities is whaltiplying or Dividing by a negative number flgr reverse the
inequality.
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5-2x=1:{2}

3(4x —7) =15: {3}

3x—-7=2(x+2)+2 : {13,15}
3x+2)=x+x+4)+1 : {1,1,3}

3x =2(20—x) or 3(20—x) = 2x : {8,12}
2x—(14—x)=1o0r2(14—x)— x=1: {59}
46 = x+ (3x +2) + (3x + 2) : {6ft, 20ft, 20ft}
2x =(12—x)—3 or 2(12—x) =x — 3 : {3ft, oft}
Olive Qil = 2 cups, Vinegar = 8 cups

5 Ibs horse manure

12 pm

9 pm

175 Beers, 75 Hamburgers
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No solution or {} or &
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{x|x<-lor5<x}

{x]-3<x<2}
No solution or {} or &

All Real Numbers, {R}

X x<Oorf< X
5

{x] -2 <x<5)

<+ |
-1 S
Oo——o
4 —
Jb a
0O O—)
1 —
o s
e—©
1 —
.S S



